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5. This question  hooklet is divided

into two sections — Section-A und
Section-B.

In Section-A, are
70 objective type questions,
out of which any 35 questions
are to be answered. If more than

there

35 questions are answered then
only first 35 will be evalugted.
Each question carries 1 mark.
Darken the circle with blue / black
ball pen against the correct option
on OMR Answer Sheet provided to
you. Do not use whitener /
liquid / blade / nail etc. on OMR
Answer Sheet, otherwise the
result 'will be invalid.

In Section - B, there are 20 short
answer type questions,
carrying 2 marks, out of
any 10 questions
be answered. Apart from these,
long answer

each

each
wnicn
are to
there are 6
type questions,
5 marks, out of
3 questions are to be answered.

carrying
which any

Use of any electronic appliances is
strictly prohibited.
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@vs - 3 / SECTION - A

SIS W / Objective Type Questions

mm1#7ow%mm$%vwﬁmﬁmwé‘ fre &
wwﬁ?faﬁmgﬁwwﬁﬁmaﬁomvﬁzw%#;m
35091 & v 3 & |

35 x1=35
Question Nos.

I to 70 have four options, out of which only one is

correct. You have to mark your selected options on the OMR sheet. Only
35 questions are to be answered.

35x%x1=35
. 2011 1 SAUET % ATER WWG & fhE U9 d Tm swen w1 gl
gatiee o ?
(A)  dfHeTg (B)
©) wERTy (D) e

Which state had the highest percentage of urban population in

India according to 2011 Census ?

(A) Tamil Nadu (B) Kerala

(C) Maharashtra (D) Goa
2. Pm=dd T TR A R 7

(a) @ (B) T

© wad ey
Which of the following is not a mining town-?
(A) Jharia (B) Raniganj
(C) Khetri (D) Patna
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VB Th ISTE ¢
(A) MEIE NIEEN (B) QYYhTeAT 98T ]
(C) ®IATZE WL &1 (D) T & #1877

Rohtak is an example of

(A)  Ancient town (B) Medieval town

(C)  Satellite town (D)  None of these

A= wed | W Tora o srafRa Td R 7

A gm o O B R

(C) TNThIE (D)  wigeh

Which of the following towns is not situated in Gujarat ?
(A) Surat | (B) Nasik

(C) Rajkot (D) Kandla
=t L R v u———
20 |

(A)  EE g 400 &fw gfd ot fefl

B)  prarderat, fam 3nfe & g

(C) v 3HR 5000 dfthal | sfves

9/-75%15! it STEE 1 NYfis 83 0 T &M
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Which of the following is not a part of the definition of a city as Per

the census of India ?

(A)  Population density of 400 persons per sq.km

(B) Presence of municipality, corporation €tc.

(C) Population size of more than 5000 persons

(D) More than 75% of population engaged in primary sector
6. ﬁﬂﬁ@aﬁqi@fﬁzﬁww%@m@%?

(A)  H-&Hd N (B)  Hal AWGd

©) W SHE o e A wdh

Which of the following is responsible for land degradation ?

(A) Soil alkalinity- (B)  Soil erosion

(C) Waterlogging (D)  All of thése

7 SN 3@TE ¥ 3ol U @

-—

a) fem (B) Tl
(©) mEmg (D) WUTeE

The leading state in Jowar production is

(A)  Odisha (B) Goa
(C) Maharashtra (D) Meghalaya
25A/12/108 | |
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8. Trvggar geern o e ges Y ngeyet a2 2

(A) Nlcjdia?}ﬁ tHdh (B3) SIECIE| i
(€)  (A) U (B) g (D) % A i

Which component 1s considered important in the concept of

determinism ?
(A)  Natural component (B) Human component

(C}  Both (A) and (B) (D)  None of these
0. THY YA 61 T fhY Hel a1 & 7

(A) B)

et

C) == (D) &I

Who is called the founder of Human Geography ?

(A)  Ratzel (B)  Ritter
(C)  Blache | (D) Humboldt
10, WA el e i o fhe & @ grafid @
(A) @i Y (B) UaHIfas e
(C) i yme (D) 3nfla spmie

Geography of Tourism is related to which sub-field of Human

Geography ?
(A)  Social Geography (B)  Political Geography

(C)  Urban Geography (D) Economic Geography

losa/197108 |
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Cafiga SE) 7§ @A TE e ATl B 7

11, =
(A fved g (B) feqerai 1 56T
() TR S S D) WA el
pulated ?

Which of the following regions 18 densely po

(A) Western Europe (B) Equatorial region

(C) Desert region (D) Polar regiqn

%ﬁmﬁmmmﬁuﬁﬁmqﬁmﬁmaﬂ?ﬁ%?

12.
(A) 30w (B) 20 i
() 50 ¥ e 60 Ffeerd
What percentage of world's population lives in Asia ?
(A) 30 per cent (B) 20 per cent
(C) S0 per cent (D) 60 per cent
13. ﬁmﬁmﬁﬁﬁqmwwwﬁlﬁmqﬁ% ?
(A) T (py— Sarfores gfawd
(€ s (D)  wemRal

Which of the following is not a push factor of human migration ?

(A) Water shortage (B) Educational facilities

(C) Unemployment (D) Epidemics

Page 7 / 32
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4 walEdn wsem fagra B fea srEE i s i e g & I A
3K
(A) Yo @) fodm
) qdm (D) M A w AR
Both birth and death rates are high in which stage of demographic
transition theory ?
(A)  First (B) Second
(C)  Third (D) None of these

15. Frmfefigd § | S 37wt 991 1 HRIE ?
(A) S TG (B T WG
(€) @t g (D) ¥-9q
Which of the following is the cause of acid rain ?
(A) Water pollution (B)  Air pollution
() No{se pollution (D) Land pollution

16. gl Frise % fafie e 2
() e sraeen  fafim Gt & faew
(B) uiasd Wrerdd # &Eg v
(C) & ferdw o fershra 1 3TTH
(D) 7o & <t fereRTd

25A/12/108 |

Page 8 / 32


https://www.pyqonline.com/

(323

Specific feature of regional planning 18

(A)  Development of various sectors of economy
(B)  Areal differences in transportation network
(C)  Area specific approach of development

(D) Development of rural areas

17, fr=fufaa O 8 AN agaE 7@ R 7
(A)  TEEA GHHT (B) AT WY
() ~ER (D) vETEAE WY

Which of the following diseases is not airborne ?
(A) Respiratory infection  (B) Conjunétivitis
(C) Diarrhoea (D) Bronchitis
s, N T fE AE % S W R R 7
&) T By
©  Fd () F
Paradwip port is situated on which river delta ?

(A) Ganga (B) Mahanadi

(C) Kaveri (D) Krishna

[25A/12/108 | Page 9 / 32
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19, qdiepifa ue arafeud 2
(A) A (B) @Al 1
() dfeEg o (D) Y w27 |
Tuticorin port is located in
(A) Kerala (B) Karnataka

(C) Tamil Nadu (D) Andhra Pradesh
20. Yd-9EH {6HSH HT JEIOH HEl ¢ 7
TOR B) TR
(€) TRER (D) SEETETG
Where is the headquarters of East-Central Railway Zone ?
(A)  Hajipur (B) Jabalpur
(C) Gorakhpur (D)  Allahabad
21. 3Meodiodiodio 3
(A)  @ufrd qded fahra wwm
By "l s (e SIEE
() wwf=ra wman fasm wum

(D) wuf<d ufaga faem g™

25A/12/108 , Page 10 / 32
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1T.D.P.1s

(A) Integrated Tourism Development Programme

(B) Integrated Tribal Development Programme

(C) Integrated Travel Development Programme

(D) Integrated Transport Development Programine

2, ‘._ AT o g ) frepfirg foran 7
(A)  Wo WA H B) wHEA &R
D) & BE T

2

(C) TgUH TSH

Who developed the Human Development Index ?

(A)  Prof. Amartya Sen (B) Manmohan Singh

(C) Raghuram Rajan (D) None of them

23. ﬁn:ﬁﬂ%ﬁiiﬁiﬁiﬁﬂﬁm‘%wr3E9m1ﬁwaiiaaﬁhaa% ?

() et (B) %M

——

(C) U (D) A

countries has the highest sex-ratio in the

Which of the following

world ?
(A) Latvia (B) France
(C) Japan (D) Qatar

Page 11 [ 32
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24, Tr=fafad 0 ) 1 faswm 1 gam ek 8 7

@ wwrdalz ) mr o gy o

-

(C) ﬁmﬁwqﬁaﬁ?' (D) HTRE H fmar

Which of the following is the best indicator of development ?

(Al Anincrease in size
(B)  Simple change in quality
(C)  Positive change in quality

(D) A constancy in size

25.  ‘TYERO fohw i fhahem @ wrfie @ 7

(A). ST TR ®) s frame

_ (C) gdtas forareremy (D) =g frarrery
'Pastoralism' is related to which economic activity ?
(A)  Primary activity (B)  Secondary activity
(C)  Tertiary activity (D)  Quaternary activity

26. ﬁmfrﬁ@dﬁﬁﬁﬁqﬁwwa ?
(A) TIA (B) W

Which of the following is a plantation crop :

323

(A) Wheat (B) Maize
(C) Rye (D) Tea
D5A/12/108 | Page 12 / 32
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o7, e i it wHA W 8

(o) ®&H (B) W@ H
 Hewts | D) 2 |

Co-operative farming has been more successful in

(A) Russia (B) India
(C)  Netherlands (D) Denmark
28. ﬁmﬁﬂ%@_mmﬁmmwﬁawﬁmﬁm% ?

(A)  EHNEEE B)

© fuf¥a | (D) AR T

In which of the following economies is production owned
individually ?
(A) Socialistic (B) Capitalistic
(C) Mixed (D) None of these

g, atETEe Ieded H 3Rt U %.
(A) sl
() HARH (D) 3w
The leading state in Bauxite production 18
(A)  Goa (B) Odisha

(C) Karnataka (D) Assam

[25A/12/108 Page 13 / 32
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30.  enfeard WM fvw whie A wafig 2 -
(A)

[ 323

N \(B)  ©l&-3rmap
(C) wieEmRe (D) @&

L}

Gurumahisani mine 1S associated with which mineral ?

(A)  Coal (B) Iron-ore
(C)  Bauxite (D)  Copper
31 T 8 3 9 wiftes wfiwr 2
(A) e ses (B) dtan
© it Dy v @

Which of the following is a metallic mineral ?

(A)  Iron ore (B)  Copper

(C) Manganes'e

32, vgTEd % gy 2

A) ot =6 s g (B} ite-seura 3y
(C) UL -THRH Fem | D) SR I

(D) All of these

Bhadravati is associated with

(A)  Cotton textile industry
(B)  Iron and stee] industry
(C)

Petro-chemical industry

(D) Jute industry

2547127108 | I
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g fpm T 1 R 7
(A) HelUg (B) TR
(C) mMdl (D) ufFEH S

Trombay is in which state ?

(A) Maharashtra (B) Guijarat
(C) Goa (D) West Bengal
34, SEQ T HG B
A PRBaaEd @) fsh & ¥
/}er/méﬁrﬁ%éaﬁ o) A

Bokaro steel centre is in
(A) Mixed sector (B) Private sector
()  Public sector (D) None of these

35. mwﬁﬁm_wwmmm%?

(B) WeNH
(C) = /m)/ FEHCETE

Which city is called Manchester of gouth India ?
(A)  Chennai (B)  Sholapur

(C) Coimbatore - (D) Ahmedabad

[ 323

Sea/12/108 |

Page 15 / 32


https://www.pyqonline.com/

| H | [323]
36. fava =mw wned (WTO) #1 yered feya 2
(A) = | B) g o
©) e (D) 7 fegh d
The headquarters of World Trade Organisation is located in
(A)  New York (B) Vienna
(C) Geneva (D) New Delhi
37. f%u 99 &1 g@e” weag § sefer 8 7
(A) 37U _ABT caE
(C) i (D) T @ T+l
The headquarters of which as;ociation is located in Kathmandu ?
(A) OPEC (B) SAARC

(C) ASEAN (D)  All of these

38, 3w grEfid 2
(A) g frafa @ (\ (B)  afan fyata @
ﬁf-'ﬁﬁﬁ?lﬂﬁqiﬁﬁ ‘ (D) = frafa |
OPEC is associated with

(A)  Cotton export (B)  Copper export

(C) Petroleum export (D)  Sugar export
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39. q€1%53?ﬁ'au1iﬁaiﬂﬁ%uﬂﬂﬂlﬁ AT 7

(A)  ATHR

(C)  gerEi

The village settled along a rv
(A) Rectangular

()  Circular

B) i
(D) dh

er will come under which pattern 7
(B) Radial

(D)  Linear

40, ﬁﬁqﬁﬁﬁﬁfﬁiﬂﬁfiaﬁﬂ{gﬁﬁ%ﬁruﬁﬂ#aqqumraﬁﬂ'% 7

) A ad
) & A e

Which of the following region

settlement ?
(A)  Nile Valley

(C) Hwang Ho Valley

(B)  HEEIHAT

[DL,/fﬁ%EHﬁﬁ
-

s is the oldest well documented urban

(B) Mesopotamia

(D) Indus Valley

41, Wﬁﬁwﬁ%ﬁ%@ﬁmﬁmwﬂ%?

(A) A

(C)— e Hedl
/

Which of the following is the ¢
(A) Canberra

(C) Addis Ababa

(13)  clHIh
(D) AU

apital of fthiopia ?
(B) Lusaka

(D)  Nairobi

[25A7/12/108 |
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43.

ffetlend 0 A M diaplan am 2 7

(A) ch{all] By Ul ,
(C)  led | (D) HHFE
Which of the following is a cultural town ?

(A) Canberra (B) Mecca

(C) London (D) Osaka

faafafiga 4 9 w9 a9 snufa sam 2 7

Ay T IEm (B) die 3@m

(C) ="gIIam (D) ©E-3TE I

Which of the following is a forest-based industry ?

(A)  Paper industry (B) Cement industry
(C) Leather industry (D) Iron and steel industry
44 fava &1 g99qq teda 9 AT R
(a) U (B) ¥ H
(C) AT G Dy Iuh i §
World's most dense rail network is found in
(A)  Asia (B)  Europe
(C)  Afrca (D)  North America ‘
25A/12/108 PES
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HIETCA JETET R
(A}~ At TEH (B) Har{l 9T H
(C) Uk YT I (D) &1 IeH

Abadan is an example of

(A)  Oil port (B) Passenger port
(C)  Packet port (D)  Naval port
TR ISR #

(A) O THH (B) WoRA qHd I

() - gAatd T H (D) ¥ & FH T

Nagasaki is an example of

(A)  Oil port (B) Fishing port
(C) Entrepot port (D) None of these
B T8 e 8

(A)  TReg wErETTC R ST HEER §
(B) e ETETR W Feeied HErar &

D) ¥ & B8 TE

{
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Suez canal connects

(A)  Indian ocean with Pacific ocean

(B)  Pacific ocean with Atlantic ocean
(C)  Red sea with Mediterranean sea

(D)  None of these
48. o9 aml 1 swm sw-d wyw 59 e @ Rl g ¥ F= e
% e g @ 2

(A) I edies THg Av

(B) & Tl
(C) ™I AT
(D) &Y A7l

Which route is used for trade between North-East United States of

America and Western Europe ?
(A)  North Atlantic sea route
(B)  Suez route

(C)  Panama route

(D) Cape route

[25A/12/108 |
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ou.

fymfarfiga o @ @9 avdfes anfaw T T8 R 9

(A)  HIAHI] (B UdH

(C) AR (D) HihH
Which of the following is not an inland seaport ?
(Al  Kolkata (B) Athens

(€l Manchester (D) Memphis

Tafeiea & 8 &9 T wEd 8 7

(A) (B) %I
(& (a) U (B) M (D) ¥ & H1E TEl
Which of the following is a beverage crop ?
(A) Tea (B) Coffee
(Cj  Both (A) and (B) (D)  None of these

farad aamhie w4 fo 18 &1 i 2

.

(A) 9PI@ d (B) €St i

(c) wafi g (LY sHad dfda

——

Extensive commercial gram farming i1s not practused in
(A) Pampas (I3)  Steppes

(C)  Prairies (D)  Amazon basin

[323]

25A/12/108
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52. Tyfafied § A 9 qaw frani 4 g 2
() whaw (B), Haw
(C) Yand /Aﬁ}/ At fsriter

Which of the following is associated with quinary activities ?
(A)  Transport (B) Communication
(C)  Services (D)  Policy formation
53. A Hiel &1 gy 3
(A S v ®) fadam o
(C) qdEs o d (D) =g fpar &
Red Colllar is associated with
(A) Primary activity (B} Secondary activity
(C)  Tertiary activity (D) Quaternary activity
54. frefafea 4 4 #9 (9 danst @ gt @ 2
iy e | (B) e
(c) (D) & @ wsft
Which of the following is associated with professional services ?
(A)  Advocate (B) Washerman

(C) Barber (D) All of them |

[ 323
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=5, f=fafiaa 1§D ol gad St IR 0 qafeg 2 v
(A) HUTch fefamtor (B) r[I?r?ﬁ] bl 1z ()‘
e st B Froafaaren '
Which of the following 1s l‘ttlalc;,ci to quaternary activities ?
(A) Manufacturing computer

(B)  Printing books

(C)  Paper and pulp production

(D) University teacher

N
)

mmﬁﬁ%@ﬁmmq@mmm%?
(A) e fRaThey |

B) Tedftas A Q

WW‘? \

(D) T=9 fEaEan

In which of the following activities are high levels of innovations
included ?

(A)  Primary activities

(B) Stf(:rmc;ia ry activities

(C)  Quaternary activities

(D)  Quinary activities

-‘:--_-_-——-—_
25A/12/108
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57. @ AT gEy R
(A)_— BE # () A A
- ]

© fuand (D) g A IS T

Garrison town is associated with

(A)  Cantonment (B) Trade
(€}  Education (D)  None of these
58, Prefafaa snfie femeil § i aefor el @ geEfd 27
A iy 5 B fakis

(C) A . (D) A FE A

Which of the following economic activities is associated with rural

settlements ?

(A)  Primary (B) Secondary

(C}  Tertiary (D)  None of these

5. uwA § ye yEE hl g b 8

(A ardio g g @) Al | A
‘QQ}---"“""ﬁﬁﬁﬂl g iy (D) A A e

The main stream of male migration in India is
(A)  Rural to rural (B)  Urban to urban

(C) Rural to urban (D) Urban to rural

25A/12/108 Page 24 / 32



https://www.pyqonline.com/

)

(D) IW W

According to 2011 Census, which state has the highest density- of
population ?

(A) West Bengal (B) Kerala

(C) Bihar (D)  Uttar Pradesh

61. Prifarfag o & f6g Usg § gaifues e § e 37d 8 7

(A) TS W
) fuEr (D) - e

Which of the following states receives maximum number of

immigrants ?
(A) Chhattisgarh (B) Maharashtra

(C) Bihar (D) Kerala

60 frfefiad § & BN U S AR 6l I HTh T R 7
(A)  TEA-FEd ) dEat Gl
(B) IIE T
(C) T@H-"eA i f= gumd

(D) i T w2

IT‘I"'A !1("!11!“&0'

Dara N5 [/ 30
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Which of the following is not a pull factor of human migration ?
(A)  Better living conditions

(B)  Favourable climate

(C)  Poor living conditions

(D)  Peace and stability

63. fafafed -l Ryl o frgdh T st 3 =am 2 2

(a) <Emg (B) 31UH IR fpEm

(C) o IR &= D AT

Which of the following union territories has the highest literacy
rate ?

(A) Chandigarh (B)  Andaman and Nicobar

(C) Daman and Diu (D) Lakshadweep

64.  HAifaew gafa 8
A) ¥4 : (B)~ il |
(C) Mg (D) aFH
Arabica is associated with
(A) Tea (B) Coftee

(C) Sugarca%: (D) Paddy

25A/12/108 7 Page 26 / 32
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3
S Bgs TIAEAT B
(A)  oAtew o
(C) ¥FR@s
Hirakud project 1s in
(A)  Odisha
(C) Jharkhand
66. ol Fé & w18 Hl fem 2
(A)
() el

The direction of flow of Luni river is

(A)  Eastern

(C)  Southern

67. ﬁmﬁﬁaﬂq&ﬁﬁﬁﬂa‘rﬁmu@aﬂq% 7

(A) EGIEE

c) ®W

Which of the following rivers is the most polluted ?

(A)  Satlyj

(C) Sone

it

[25A/12/108 |

[ 323 |
B) faEmd
(D) g o
(B) Bihar
(D) Chhattisgarh
B) gfead
(D) & & HIE T
(B) Western
(D) None of these
(B) ¥4l
(D) meEt
(13) Yamuna
(D) Yodavari
Page 27 / 32
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68. U IRMYT g o wsw A v 2 7
W (B) TS
(C) 3w (D) I 92
In which state 1s Panipat oil refinery centre located ?
(A) Haryana (B) Rajasthan
(C) Assam (D)  Uttar Pradesh
69. F=fofad U= # | fred T v st % srafRm 2 -
(A)  HET B EEL [
(C) T (D)  Hieh
In which of the following states is Narora atomic power centre
located ?
(A) Maharashtra _{B] Uttar Pradesh
(C)  Gujarat (D) Karnataka
70.  FUHH fHg usa A 2 7
(A) & - {B) "<1fl‘~16ﬂ|__g,.
(C)  wAleh () R
Kalpakkam is in which state ?
(A)  Kerala (B)  Tamil Nadu
(C) Karnataka (D)  Gujarat
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@ug - 9 / SECTION - B

g I W / Short Answer Type Questions

WT WG 1/ 20 79 3w § | 5t 10 weAt # 3 F 1 gew F Ao
2 3% fraifia & 10 x 2 = 20

Question Nos. 1 to 20 are Short Answer Type. Answer any 10 questions.
Each question carries 2 marks.

1. SN O F8 7

https://www.pyqonline.com 10 x 2=20

What is agricultural density ?

2. WG ® 97 T U ¥ fiee & g1 s SdEe |
Give two reasons for declining child sex ratio in India.
i Fm o it & A = A | 7
What do you mean by cultivable wéste land ?
4 WA % 9% W@ i TR & TwW e |
Write the names of four main religious cities of India.
5T ¥Td =R Hrrfa et Tl & AW Al |
| Write the names of four manganese producing states of India.
6. % w1 aqE gl aw I S b A fad

Wwrite the names of four important centres of cotton textile industry

of Gujarat.
7. e fates s w2 7

What is subsistence agriculture ?
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T % U R 3 ) anffr 1 |
Classify industries on the basis of ownership.
S % Fdwa qun sdlfga gyt § SR wTE H

Distinguish between renewable and non-renewable resources of

energy.
10. &R yqyu % Rl 9w Bl @1 3gw |

Mention any four sources of noise pollution.
11, STEiRfd & SATYR W Ol ) i B |

Classify ports on the basis of location.
12. 9% W whni afemt § ot o we SR |

Differentiate between compact and dispersed settlements.
13. 3 A1 &1 941 WEed B 7

What is the importance of age structure ?
14, A faema % IR YT # IgE W |

Mention four approaches to Human Development.

15, @i sgpfs e @ Rwoft faflge |

L

Write a note on Golden Quadrilateral Highway.

16-}%@&%:@1%%%?

What do you mean by land degradation ?
2547127108 | e v 1 An
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17, @ "qUe [haran w1 sga i

Mention two quaternary activities,

(8. TR weayE &R 7 | ;i

What 1s Orient express ?

19:/ﬁmmﬁaﬁtéuaaﬁéaaﬁwm?ﬁﬁm

e

Differentiate between determinism and possibilism.
20, SHEEN & fawn w wifid A TR it S S T fafee |

~ Write the names of four geographical factors influencing the

distribution of population.

#d I90T U9+ / Long Answer Type Questions

m#wm#zsa?rfawﬁw?!%%?a%wﬁa‘rmaﬁmﬁﬁv
5 3% fraRa & | 3x5=15

Question Nos. 21 to 26 are Long Answer Type. Answer any three questions.

Each question carries 5 marks. 3x5=15

yﬁmﬁmﬁw%ﬁmaﬁmﬁﬂﬁﬁmﬁ:ﬂﬁﬁwmwwﬁ
‘ Fifau |

Describe the geographical factors influencing the distribution of

population' in the world.
02, erErd) S 3 s G § 3 e B |

Differentiate between nomadic herding and commercial livestock

rearing.
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23, Tawwmele el o Tl sfenlt 6 wensii 6 e #ifse |

Discuss the problems of urban settlements in developing countries.
24. WA H g & Ieared vd faawor ) fgeem Hifoo |

Discuss the production and distribution of wheat in India.
25, FA & NG Jidl ) fadg i |

Discuss the non-conventional sources of energy.

26. WA ®1 AHfE TR 3R Frafefad w wefifa A -

@)

(L) 1ty .
(c) ’*ﬂatn1 -

d U

() WA |

Draw a map of India and show the following :
(a) Paradwip

(b)  Agra

() Patna

(d) Ranchi

(e) Mahanadi.
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